The lab version of the MIPS only has the first 8 registers implemented.  This was required to get it to run faster and fit on the PC.  So it will be necessary to  make the following register changes to the test programs in the text.  Recall that each register powers up so that it contains its register number for test data (i.e. R1=1, R2=2…).  The existing data memory VHDL code also puts data into data memory 0 and 1 at power up.





3510 lab 1 test program








lw	$2,0($1)


sub	$3,$7,$3


and 	$4,$4,$5


or	$5,$6,$7


add	$6,$2,$1








3510 lab 2 test program











sub	$2,$1,$3


and	$4,$2,$5


or	$5,$2,$6


add	$3,$4,$2


slt	$1,$6,$7








Note: There is a bug in the existing slt code in execute that you must fix for lab2.  Read about the control signals in chapter 5 and examine the execute module.  One way to do slt is to subtract the two values and use the sign b
